LESSON 6 QuUiz ANSWERS

NZBr?dge

Partner has opened the bidding with 1 - what do you respond with the following hands?

a K954
v Q2
¢ 987
* AQ43

a QJ5

v 976

+ AJ875
& 84

a AK7652
v A5

¢ 3

« KQ96

What is your rebid after the following auctions?

€)) lv -1a

?

a Q952
v AK962
¢5

& AK5

A A52

v KQ743
+5

% A1085

(b)

lv -2&
?

a 52

v A9862
¢ AKJ65
*5

What is your rebid after the following auctions?

@ le-1v

?

a A5

v J654

¢ AK976
% K4

a QJ6

v A2

¢ AKQ73
% K85
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(b)

le - 2NT
?

A KQ87
v 74

* KQ943
% A

A 1097 a AKJ7
v K4 v K854
¢ AKJ87 ¢ 983
% Q62 % 62
2¢ 3v
(c) lv -2
?
a A53 a5
v KQJ654 v AKQ76
¢ K5 ¢ KQ865
& A8 & A4
3v 3¢
3v 3¢
3v 6e
() 1e-2¢
?
A - A 82
v Q73 v Q95
+ KQJ87 ¢ AKQ853
& AJ1076 & Q5
2% 2¢
3% 3NT
3¢ Pass
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